é) Lﬁ.

B EARESINE SN Gy uh

% Mk H

g ) M (KD £ (2021) 35049 S

TUH AFR: B HBCR LS
SR ERAL: BT P T VA AR 55 A R A

R B P S AR

o v

R4 HEH: 2021412 H 30 H




h & % ®l i BR

L AR S RIEH T H rve .

2. AR RN RAFE B KA S TSR 51

3. AR EIRILER, TMEIEE. BN BERANETL,
AN E AR, mEELN, T B8 =ik CNAS E R

4. RERGEHHEAE, MMl B HlAR kS .

yiNIB = R RAY SE
BR AR BRI R RS 22 5
MBI b : 512026

Bk Z L. (0751) 8611738

% B. (0751) 8611738




(BR) FELRW (R) F (2021) F 049 5 FIW H#£3 MW
s SRS N S
RIE (PR NRIEFMERERPEY (T REHERP T RIRERTE
ANTRTHRESAHNTBA AR EHEME 4T ) >H@EE) (BH7pE 2017 )
324 5) WEXR, T AEAWMKIESHERN H.Oubx A PHABERESERA
| S ARBCIR 24T I
= mlfER
SR EAL: FEEAFEAHEERS AR AF
WA E: FERLERR
T H: witaBE 250 ALK, c3EHE 130 ALAK, Wil HE w6
By b 230 B, V5KRTHAEESRH 200 M, HSERRE R AL
& 120 A A,
SErRERTE]: 2021 4E 12 A 23 H
FKHEEANR: BRR. ERE. 21

B RS

Sriristia]: 2021 4 12 A 27 H

STNR: HkA. B, BIEF. PHE. RO, EMEB. Sl BRSO 1T

SREE o
| i ] KRR R RE (/s) |
5 0R1. 12,23 i [iiip]e i - 0.8 J

=, WA B, ﬁﬁ%u%ﬁ&*ﬁ'tﬂﬁﬁ ;

. HE WRTERE | KW | ke e

FH 4 H] 38-2017 I%E’;z%esc 1,?]‘5@.1.% \ 0. 00001%
i RR #RJE (TLEN) GB/T 14675-1993 | — 10




il

(#R) M52

afll (KD F (2021) 049 5

g, ISmessR

IR TAEE R mNER

h=i

|
SE TAEm 10 HET/Em2 | EMT/EE 3
Y2l o~12 12723185 122314
0. 00419 0. 00055 0. 00095 J
. | i ke
= 2.
| oA B ) M ) -. FH 52 (%-):, ]
R G | 1223-1 EETIRET N
| Ef’k"-"%#-na 3 132 ) l . 0.00992 .
i k5 | 1223-3 _ ST 000782
trkm«ai—m 7 1223-4 0.00837 -
B e S5 %5 9 I 1223-5 L 0.00949
FhiwSE 12 12236 | 0924
HRFRE 15 - 43037 e A 126 =
Flis3E 17 1223-8 0559
RS 19 i 1223-9 0.00067
FksSE 23 1223-10 AMm L
HH o S5 25 05 1223-11 2.80
&V ] —
2% 3.
TR NS R
KHENL B NS ;%—uﬁfg’&a{mﬁn% (TLEHN)
E XA 1223-20 <10
TR 17 ; 1223-26 18 I
XA 2 1223-28 17 |
TXA 3 1223-38 | 15
AT PR — | 20
ﬁ*T %T l i __L ﬁ*—f
s %ﬁm «%imﬁ%%ﬂtﬁiﬁ@» (14554-93) 4. 2. 1
BIE R 1 BRIV A EE S T SdE s

HE: RAIRE:

20;




(

=1

T

e

MEIDIN R 4

B
£

IV

LO

[ B W
STO
paf =3 <
4§ AV €20
AV, 5
610
210 hn
.,.._h.ﬁD = e
O6C .
$10 \\\\

EIWE 4

ALY/

L=

A B (—V

Ry 5 il 5 24 e M7 B e Xl —V

F 5B WH—O0
BSOS T

L 6V0 % (1207) = (%) Xy (58)



